Argonne Scan anl0064Kv on 20011030 with CF ID = 14

ModuleHisto
0.2 F r’\\‘/lzr;rng ° 192
il
016F- [RMS v =0.01505
0.14F
0.12F

0.1
0.08
0.06 ¢
0.04
00z2| L-200=0.0598
o e — [ I I
0 50 100 150 200 250 300 350 400
Fiber Average Fiberhisto
Nent = 880
0'2: Mean x = 238.9
o Mean y = 0.06378
0‘18: RMS x = 93.66
0.16F [RMS Y =0.01472
0.14F
0.12[F
0.1f
0.08F
0.06F~
0.04F
002| L_200F=0.0642
o e — | I I
0 50 100 150 200 250 300 350 400
20 pc Deviants D20pc
Nent =0
12} 1+ Mean = 0
£ | RMS = 0
o
o L
H* L
05
0
-0.5
A e L
0 5 10 15 20 25
Strip ID

Fri Jul 26 12:53:27 2002

L200 per strip

L200s
Nent = 20
2 5'_ _ Mean = 0.05987
S L RMS =0.01173
(7] L
HH -
4
sC
-
1~
ol e vt b b
0 0.02 0.04 0.06 0.08 0.1 0.12
L200
L200 Fiber per strip | 2007s
Nent = 20
2 5'_ _ Mean =0.06411
S L RMS _=0.01169
) -
H* -
ar
sC
’r
1~
ol v 10 M IR N EEPEPE R
0 0.02 0.04 0.06 0.08 0.1 0.1
L200F
30 pc Deviants D30pc
Nent=0
2] 1 Mean = 0
£ RMS = 0
z L
o -
#* L
0.5~
0
-0.5[—
M e e
0 5 10 15 20 25
Strip ID

L200 vs Strip

L200Strip
Nent = 20
80'12_ Mean x = 10.5
N - Mean y = 0.05987
- RMS x = 5.766
0.1~ RMSy =0.01173
0.08— o °
L o0
) o0 o d
(ONVS] ol L SRR b
L ° ° o
C i °%
0.04=— ___________________ & _ o ____
0.02—
) I I I I R B
0 5 10 15 20 25
Strip ID
[ L200 Fiber vs Strip } L200FStrip
Nent = 20
%0'12_ Mean x = 105
Q - Mean y = 0.06411
- - RMS x = 5.766
01 RMSy_=0.,01169
008_— mm
i N -ll n
o | m
b e eerrem e enes B
006 m - u
r | .I. ]
004 - oo .-
0.02[—
) I I PR S EFEEI R
0 5 10 15 20 2

5., .
Strip ID

ol
B0.11

=

0.1
0.095
0.09—

0.085[—

100 150 200 250

300 350
Distance (cm)




Argonne Scan anl0064Kv on 20011030 with CF ID = 14

.

Integral pe
o
o [
= N

o
o
]

o
o
=

o
o
o

o

o
o
° >
III|III|III|III|III|III|III

50 100 150

i

250 300 350 400
Distance (cm)

Integral pe
o
o [
= N

o
o
]

o
o
=

o
o
o

o

o
o
° >
III|III|III|III|III|III|III

50 100 150

i

250 300 350 400
Distance (cm)

Integral pe
o
=
N

o
[

o
o
©

o
o
=

o
o
o

o

o
o
° 5
III|III|III|III|III|III|III

50 100 150
Fri Jul 26 12:53:24 2002

250 300 350 400
Distance (cm)

Integral pe
III|III|III|III|III|III|III
3 . N

Integral pe

Integral pe

0.12

0.1

0.08

0.06

0.04

0.02

o o o o o
o =} =} o © e
N B (&} @ - N

o

<)
III|III|III|III|III|III|III

0.12

0.1

0.08

0.06

0.04

0.02

o
3]
o

i

100

150

200

250 300 400
Distance (cm)

50

100

150

200

250 300 350 400
Distance (cm)

o
3]
o

100

150

200

250 300 350 400
Distance (cm)




Integral pe

Integral pe

Integral pe

o
© =
[ )

o
o
IS

o o
o o
o =

o

o
o
° >
III|III|III|III|III|III|III

o
© N
[ N

o
o
]

o o
o o
o =

o

o
o
° >
III|III|III|III|III|III|III

o o o o o
o o o o o i
o s & & i ~

o

Argonne Scan anl0064Kv on 20011030 with CF ID = 14

i

50 100

i

150

200 250 300 350 400
Distance (cm)

50 100

j

150

200 250 300 350 400
Distance (cm)

o
III|III|III|III|III|III|III

50 100

150

200 250 300 350 400
Distance (cm)

Integral pe

Integral pe

Integral pe

©
© I
[ N

o©
o
o

I o
o o
N i

o

o
o
o (o]
III|III|III|III|III|III|III
/ |
| .
1

o o o o o
o =} =} o © e
N B (&} @ - N

o

o o o o o
o =} o o o [N
N B (o)) (s3] - N

o

i

50 100 150 200 250 300 400
Distance (cm)
10 '
C L 1 L 1 L 1 1 1 L 1 L 1 L 1
0 50 100 150 200 250 300 350 400
Distance (cm)
12 '
— ' | ' | ' | | | ' | ' | ' 1
0 50 100 150 200 250 300 350

400
Distance (cm)




Integral pe

Integral pe

Integral pe

o
© =
[ )

o
o
]

o o
o o
o =

o

o
o
° >
III|III|III|III|III|III|III

o
© N
[ N

o
o
]

o o
o o
o =

o

o
o
° >
III|III|III|III|III|III|III

o o o o o
o o o o o i
o s & & i ~

o

|
)

Argonne Scan anl0064Kv on 20011030 with CF ID = 14

200

250

300

350 400
Distance (cm)

50 100

j

150

200

250

300

350 400
Distance (cm)

;

o
III|III|III|III|III|III|III

50 100

150

200

250

300

350 400
Distance (cm)

Integral pe

Integral pe

Integral pe

©
© I
[ N

o©
o
o

I o
o o
N i

o

o
o
o (o]
III|III|III|III|III|III|III
1

o o o o o
o =} =} o © e
N B (&} @ - N

o

ar

3]
o

o o o o o
o =} o o o [N
N B (o)) (s3] - N

i

)

50 100 150 200 250 300

EJ

400
Distance (cm)

100 150 200 250 300

EJ

350

400
Distance (cm)

50 100 150 200 250 300

350

400
Distance (cm)




Argonne Scan anl0064Kv on 20011030 with CF ID = 14

]

20 '
[ — (<] —
j=8 — o —
T — © —
> 0.12|— > 0.12—
i3 — [ —
= C E -
O.l_— O.l_—
0.08[— 0.08[—
0.06 [— 0.06— \
I - -
0.04 — - o 0.04 — = = = =
0.02_— 0.02_—
ol— 1 1 L 1 L 1 L 1 L 1 L 1 L 1 o 1 L 1 L 1 L 1 1 L 1 L 1 L 1
0 50 100 150 200 250 300 350 400 0 50 100 150 200 250 300 400
Distance (cm) Distance (cm)
ModuleHisto_pfx
Nent = 733
g- : Mean = 194
- C RMS = 101.6
©
5 0.121—
8 -
c — . . . .
- _ sy N [ A A A
oaf—iltl SRR AR RN R R R RN AR AR DR R N
i I R [T O : i
C i
0.08— - o o Y AT
- 0.05— "t
0.06[— 0.04—
004~ 0037
o4 - L 200 =0.06
- 0.02f— -
0.02— B
- 0.01—
o 1 1 L 1 L 1 L 1 L 1 L 1 L 1 0_ L 1 L 1 L 1 L 1 L 1 1 L 1 L
0 50 100 150 200 250 300 350 0 50 100 150 200 250 300 350 400

Fri Jul 26 12:53:25 2002

400
Distance (cm)



Argonne LI Scan for anl0064Kv

" I ) =
c O F1 pe i o _
g 6 5160_—
® [ S E
w - 0140—
ch> 5 © OF
s Q E
g - $120_—
8 4 £, = F1 Gain |
3 L B 100
= L C
3 80—
- 60—
21— C
- 402—9\@@@9@/8@@%@@&@
1 -
C 20—
0_|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/| L1 O_|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/| L1
0 2 4 6 8 10 12 14 16 18 20 0 2 4 6 8 10 12 14 16 18 20
Channel Number Channel Number
%) I~ ra :
[ ~ a -
g 6— ‘\9160_—
& [ S E
@ - o —
w ol 91401
5] C 8 -
-O - I~ .
o 4 £ o | F2 Gain i
° r T 100—
9} r R N
= [ C
3 80—
- 60—
2= C
- a0F-
1— C
C 20—
O_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII O_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
0 2 4 6 8 10 12 14 16 18 20 0 2 4 6 8 10 12 14 16 18 20
Channel Number Channel Number

Fri Jul 26 12:52:30 2002



